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D2Y 0 - S - BtE ZEIH 50,0008 750! 3,750
DIBREDLX A=(73)
5,500 x20H «7E 128 9,240
DEHEENH SIS 4,000, 000& »23] 8,000
02 232gHl 21,105 45,625 A 24,520
O1 3322 ¥ HA 21,105
DAEZ2LIEH MBS SEHRS
300& 2721503 405
DOFEE AMRA HIIRS3  100,0008 128 1,200
>Ol.8% &doil=2d 20,000& »5500! 11,000
DE=m SFTA nBE2S IS
2,000,000 =14 2,000
DE=R AME -2 FEEEYS FHOIgH|
4,000, 0003 =14 4,000
DLREZ AFE - 2823 &Il
1,500,000& 14 1,500
PE=R FE ANE -2 FEEE FI18H|
1,000,000& * 14 1,000
202 O4dl 4,800 4,800 0
1 20101 bl 4,800 4,800 0
sSHsSIT ¢l 400,000 x12& 4,800
301 PP BN 124,540 122,100 2,440
02 HetzLetit= 43,560 39,600 3,960
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Oo0l - S& W=, MOILE, 22t 24
14,000,000& 14 14,000
OZ3&E 0 - & stitsUsal #OtA 24
10,000, 000& 14! 10,000
O2Y 0l - 8% Hd&X As 250,000& «120¢! 30,000
OAMZBEUH H&X AS 250,000& »270! 6,750
OUFBEAZAEAS 319 HILA
7,000,000 » 14! 7,000
MIIEEd= 6,480 6,000 480
OANEBEZLH gs24 20,0003 #2721« 123 6,480
307 21201 A 30,000 160,000 A 130,000
02 QB AEXRS 30,000 0 30,000
Osgs=2gs N3 20,000,000& =14 20,000
OFY AL =X L==H 10,000,000 » 14! 10,000
AQlI OFMD|BHE = 1,013,345 1,603, 052 A 589,707
201 L2l 501,600 471,400 30,200
02 23224l 501,600 369,000 132,600
O1 22232 % HA 501,600
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100,000& *3002] & x12& 360,000
DYHHE CCTV 823
20,0003 3003 & 122 72,000
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800,000& »12& 9,600
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01 A& HI 500,000 535,000 A 35,000
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03 Al S THHI 3,240 3,371 A131
O s CCTV &XISAHAIEROHI)
450,000, 000% x0.72/100 3,240
HEMLES ?AE CCTV 2SALY 197,723 197,723 0
= 96,000
Al 101,723
401 AIEHI L 2 CHYI 197,723 197,723 0
= 96,000
Al 101,723
01 A& HI 192,000 192,000 0




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O0elol etMFAFEoZ2E(CCTV) XA
192,000, 000& * 14 192,000
& 96,000
Al 96,000
02 2feltl 4,340 4,340 0
OZeltl 192,000,000& *2.26/100 4,340
03 Al 2 THHI 1,383 1,383 0
OAIE =TI 192,000,000& *0.72/100 1,383
s.9.38 dsU3l 120,000 0 120,000
307 glz2+ol & 120,000 0 120,000
04 QIZtHAIE X = 120,000 0 120,000
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O%FAl 0lS&E HM=Uz 25,000,000& =14 25,000
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MIIEH BX=2 XS 211,670 207,210 4,460
MBS EXx2 XA 211,670 207,210 4,460




R PPN = RSy
M FQXX 2435
&S MEEH BEx2 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
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01 At 22l 1,050 1,050 0
O3 2g8=¢ 1,050
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307 21201 A 210,620 206, 160 4,460
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OAM)EAZ=Al MOt23 65,000,000 =14 65,000
Ot aII2s FFANE 23
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Ost=TeEAU AFAKXE
18,000,000& 14! 18,000
OMSLAESLEAE FAXR
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O3F0=323 HSALES 5,000,000 *14] 5,000
O0I=5& AFAIE2 3 3,000, 0002 1Al 3,000
OUstHNYI SAtsl =X+ 23
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NESEsAY F=& 175,000 255,000 280,000
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01 MHZ 4l 170,000 250,000 280,000
OsMMOl=2S 253 AL
170,000, 000& * 14 170,000
303 Z& 3 5,000 5,000 0
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